Week in Review 2

Monday, September 12, 2022 5:05 PM

1 Tind rhe \\o(mé.
2) . az §3
@  oreian($?) ) L1 @
b= 021 (o).
tand = $H = {3_

\ ]

So ardn (®)=0= 60" ~ 3

< £ a
(& o (- :L) N o (negatng wsine)
AN J ‘
a%‘tast b b:)
@sQ = wa 3 R
(00 = "—3;1-

>

° 3T
5, w;‘(—%\: (35" = F.

M
T A\wmbz\s , unt vrde mdel, : /‘:3\

D'y

\

() S\ (Q 5‘.":‘ (%\) .

Here m“ﬂ'ﬂ“ﬁ""“‘“o@'ﬁa fonctin

Siw (20) = 28mf 58 .
~ (:8) 4 4



IV
DN kLU, - & OMQg w

t 1
A3 Sel sm® = %:%’—”—m
let 0= sm (-4:) ,  wWe

n = 25m0 0.
Otr 39«& s twpule S (20) = 2590 s

] o : 4 3
Al we ned s T no  cos ) '

= .
s = 4

’ (3 = Sl'vs(‘l.@\
S Sin | & Sm (-4)\
o ( =3$fhs(ﬂs0=g.%.ﬁ- 3ﬁ

¥ 9 3%?\]%‘3 J&L QX?NSSW.
) ( sin (MB .

Lot Q= sin (%), Our 3”1 s fmd  tan O

3o sng= X o e guestiom becomes :

y _ 2
e  fwe MO K , What 5 Tand = 7

. 1 i‘f us
MNow  we use ’njl\x tﬁavlz b dssis

M %
A 4
tand= djunt (o

\- X*




VWiV .ﬂm ‘ (—'X"

\- K"
j X
So ()= tonl= =
B, ws (@) |
Ll Q= orclon(x) thon  tan@= X

Tluwe_uw\b.'e‘ml wsh= ? _
4%
Mo use 1)3‘\# ha-dk Aolﬁ ‘A
s 0= ,_J/b’ . _K\w

So %(Md‘wﬂm\ = w0 = (e -

0'5 ¢ Sf(e‘fcjl\ ‘t"\ﬂ. 340?‘\ a‘%




S0

?\'\& '&& \;“"‘s : \
/)\-)-\'%“\: [‘\'(——l\ =0
. 2

L A= @Y =

\i = \'=

m:*\_ Lxy= 1 \

Ve = a1 =

> Poos i Qlﬂ) P No fime ‘?l*)= DNE .
" / x4

\5-» = = o~
C beawse V= =0 % 1= fw )

1o

( becouse ‘}_';T_ S;tﬁ)=| = 4:;-* xy ) |

> Do {0 ws? Yes,

wd. Tid the lnits.

(@) lma XA
x> -5 XY .

We obswrie  Fhok EDN*+3=0. S0 we const S?M,lj
?\MB M x=-D.

[ 4 wumenlor Ml = (Bn=-2 /05 *"7-‘.‘:\



Lok o nmalir - AL > -z (s Feg)
Laok ok Ml\ina*'f: 3> > @3)-\-3:0 ( 2 %> -3-).
Siha XS meams  X<-3  (fom 4 left)

> X+ £9.

x| -2

D 8 &% — m.?m'n = X
(Smath »9) .

0 .
W D oo .

65 M9
. Xx\ — ;#\36, (Sooo()
D servakin
x-§ —> 6-5=0 cnot am( 747‘
l[wm'nﬁ‘).
Ne wed to Dok ot & diffort  sides .
o ML S ,.
35" K-S (WTN, \ Y ({9”' 3&)
smild 0
ks L g '
CER M CI-N positive ) = O (I':Jb Silﬁ).
Snalk >0

So Tky J»I\'f wafch  Cnot #a Same) 4 .\
Thow w0 XL - DNE | — k

K>§ X5




©  \iw A (swb0) ™

x>0t

roph A S m //\ C
U U \J

qt;:* Sml0)=0 . (opprnck  the ﬁah $ o).

qoh & o /

- 0

I§ the varade is opfraadiig & frm e vyl
Ban IO s fedig % -,

So ¢+ Yew fa(sinta) = —o00

) T 2%

(A
\wn f‘x-—QX
e

2 2 -
: SaX = R 11F0, 08 x> Q
Do servotion L t

K-t > ¢-¢ltyco a5 W33,
We need S\w“\i‘f‘) 1ha W plesion &rﬁn we mydz #e /s

oo H=2% o _XOD)  x
WL gty T @-) a9 -2




Lo A2 (e =AY he X
WE ity a9 &-2)* >0  ~x-2

Observekion X => 2 a5 X7

X2 > o as N9

>3 K< . Sv X-1LO  Negafire
X 2
> - = - oo
K- Neypdine
Qu-n’»

\'\m mz. 1X = L A
Yy Kty WL RN

Them z -00.

¥ ; Cow\‘,m fkg, limi{s,
wn /X7'+ 3%
(O‘) ) K- a

- — _3)+ 3(-3) = as X%?-3
Ob3arvedim : eI —=> ()4 3(H)=0

Kx-1a = - (D-lazo as> A>3

Vi OCEOK e (D)
%D KX % H-Q(xed)

. -
*>% a4

]



oo
@'"‘33'8 — @N)?'S:O @8 h»0.
of
Olysew (o0 . | e
b 2 binonkﬂ (Wmlq
e Lﬁ—k‘}\‘—‘% _ i (@3Fhe3 2k ) -8 by
50
e h a3 abriad’
+b
e Y aheGh'h -8
—h-)o h —
R h( 12+6ht+h")
~ wdo A
= é“.;"o (Ri-ékfk") = (a+6o+dt = 412]
O {2t -
12\ t-\v =~
{Q' | > S;"\-‘-O es 1|
Dbservation

-t = -0 o5 t> 1.
Rewni /simplfy e oxpression

| EL-—' = lw G’_l"_‘?_ ’\) (Et_-\-\)
e -l 12 G- (G )

(s \l _ ¢




\~

@ -

- \;\Ns ~

Y20 ) (g ).

= “W\ Q-t)—l_‘
Y21 (S )

=<

\im
¥ (@ )

1)

-\

R (R
£t21v {2t +\

-\ -\

{o.-\ £\

|
)}
&)

() ,)\ew; ’x"'ws(%(}.
Yse  Speeen Hesrom !
nis g e s o B

So -1 £ cos(—,,%) < |/
,713“ _,XQ'S (X"us(%) < (xq' ('x'ao).
— Yy~
X0
. . v - _
Sinee mf;v;(-m)=o andl ,,(/_';39(—0.

B:} Speeie fhearm o m'ous(%) =0

2 A



/K +%=6b
. )=
% 3 Ix-al
tud q}_‘;} ) omd (’l‘;} qix). Skeich the aroph .
lim gy = lm t%-5
Sk oy -2l
Ll RA%=6
Tadxr  2-%
- b (\'7\"’-)("“'9
L =
= \im e 243
x> 9" -\ = 1S =
\\.w‘ A = \\M ‘ﬂi
9" L "3 X2
3
\\M (X X - 6
a1 X-2
- \‘\vw {5'\"2')(7“'})
T R
= '}L_;f;* @) = w3=§.
- " (z “— =- .
o L 90 wst D No o beese (5 TS kot



Dw, . I st No , becouse 0!_;}3‘1‘)"‘5 £¢ ;/»‘»Jhr).

%2 X2
Foam Ha coropdatin s X2 xea (fhm Hateft)
T gz xr3 K32 (fim K ph).

\9 goph o 90,
\\\Z ”




